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20204 4 H
Y& AE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (&)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.042 - 0.445 0.068 &
LA i 1.512 0.015 - 0.606 0.084 =
/L4, (HCI) 4,545 0.064 - 0.181 0.138 =
mIbE (HF) 0.306 0.014 - 0.055 0.032 =
— &b (SO2) 15.147 0.604 - 4.284 2.474 =
—4& kbR (CO) 7.578 0.000 - 0.150 0.070 =
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.405 - 4.978 1.356 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.057 - 0.086 0.068 &
HEA T 0.756 0.045 - 0.135 0.084 =
/L4, (HCD 0.756 0.117 - 0.160 0.138 =
wAbE (HF) 0.072 0.022 - 0.047 0.032 s
— &b (SO2) 3.789 2.025 - 2.886 2.474 =
—&Ei% (CO) 3.789 0.035 - 0.106 0.070 =
HAY (NOx)
DL E/EE (NOY) 15.147 0.665 - 2.537 1.357 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.0052 &
IR R g ) 7.575 x 107 <5.707 x 1010 =
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Y& AF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.002 - 0.015 0.004 &
LA i 1.512 0.019 - 0.527 0.105 =
/L4, (HCI) 4.545 0.041 - 0.186 0.131 =
mIbE (HF) 0.306 0.004 - 0.060 0.029 s
— &b (SO2) 15.147 0.056 - 3.711 2.207 =
—4& kbR (CO) 7.578 0.000 - 0.206 0.055 =
HELY (NOx)
PL—&/EE (NO2) 30.303 0.126 - 8.535 0.819 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.003 - 0.005 0.004 &
LA 0.756 0.062 - 0.170 0.105 =
/L4, (HCD 0.756 0.111- 0.157 0.131 =
wAbE (HF) 0.072 0.016 - 0.042 0.029 s
— &b (SO2) 3.789 1.760 - 2.544 2.216 =
—&Ei% (CO) 3.789 0.015 - 0.130 0.055 =
HAY (NOx)
DL E/EE (NOY) 15.147 0.310 - 1.947 0.842 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0012 =
R A 0.0378 <0.0056 &
IR R g ) 7.575 x 10°° <6.083 x 1020 &
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S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.035 - 0.882 0.087 &
LA i 1.512 0.017 - 0.678 0.077 =
Z/LE (HCD 4,545 0.025 - 0.149 0.090 TE
mIbE (HF) 0.306 0.004 - 0.057 0.028 =
— &b (SO2) 15.147 0.026 - 3.519 1.869 =
—4& kbR (CO) 7.578 0.000 - 0.166 0.045 =
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.585 - 7.835 1.011 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.075 - 0.109 0.087 &
LA 0.756 0.048 - 0.128 0.077 =
/L4, (HCD 0.756 0.064 - 0.118 0.090 =
wAbE (HF) 0.072 0.020 - 0.039 0.029 s
— &b (SO2) 3.789 1.672 - 2.256 1.882 =
—&Ei% (CO) 3.789 0.027 - 0.082 0.046 g
HAY (NOx)
DL E/EE (NOY) 15.147 0.771-1.704 1.042 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0012 =
R A 0.0378 <0.0052 &
IR R g ) 7.575 x 107 <5.894 x 1010 =
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Y& BF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.008 - 0.219 0.019 &
LA i 1.512 0.037 - 0.388 0.089 =
(L& (HCI) 4,545 0.014 - 0.108 0.072 =
mIbE (HF) 0.306 0.000 - 0.058 0.034 =
— &b (SO2) 15.147 0.336 - 2.596 1.707 =
—4&bi% (CO) 7.578 0.003 - 0.195 0.063 g
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.551 - 3.701 1.027 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.011 - 0.044 0.019 &
LA 0.756 0.071-0.111 0.089 =
#F/bE (HCI) 0.756 0.058 - 0.086 0.072 s
wAbE (HF) 0.072 0.028 - 0.037 0.034 s
— &b (SO2) 3.789 1.466 - 1.894 1.707 =
—&Ei% (CO) 3.789 0.029 - 0.101 0.063 g
HAY (NOx)
DL E/EE (NOY) 15.147 0.729 - 1.238 1.027 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.005 &
IR R g ) 7.575 x 107 <5.54 x 1010 =
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